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Instructions - gyleyeyser

1. This guestion paper contains 30 questions in Part A(General knowledge) and 140 questions in
Part B(Psychology, law and Police related subjects).

@eeilangsnele ugE ‘o Curgopels 30 alerisesh wHD UGS ‘2
o erafluieh, F11_th oPpIth &reushgenp FibioEsiomerena (140afenngsen) o_creren.

2. The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black
ball point pen. The answer sheet without shading the type of question paper will not be evaluated.
Qb aflennggnefsi aumaemuw(A, B, C or D) eflen_gznafles sigp@ein_mer @) gSeb povth
(21) sy Bp urey urfer Guanrrenald ﬁﬂﬁﬁﬂ'@ sTp® 196 LI eni B L ayib.
aflemnggneteir auensen L enL Bt mailt L_mev, Sybs eflen,_Ssmer S i wom’ L ng).

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet.
alen_ganailey, Fevib (1) swLiy Hp ured uniler”. Guiern g Garem® LB ey eren
2gp@Iu s LR e1up®), e LU e B L ayib.

4. Answer all the 170 questions — 170 Gasirafls e54@ b aflenr_wess Gaam@ib.

5. Each question carries half a mark.
geubleunms Gaeralld @b ey HLICLIeHT aupris 1L BILD.

6. The answers to the questions should be shaded in the relevant cirlees using blue or black ball point pen,
aflenL_senan Fevtb () &L flp Lired umian Guertenaud BlsTaw (R HESHS oL L Eisefled
ul e BT _ayib.

7. For each question only one answer is to be chosen and shaded.

@@ aflerrallp@ e allent_anw o’ HGio i enr Bl _ayib.

8. Forwrong and improper shading, no marks will be given.
sauprs Ul e BilemnmGen, ssse Boisnsar QeignCar sps Caearalde
B 1G)LiewT HlenL_dsns).

9. Writé the Registration No. in the question paper — LBley ereiranens Gaaradgsmeled eTipsab.

10. Write the S1. No. of the OMR answer sheet in the question paper at the appropriate place.
OMR afeni_gsneflen cramrenent Gasirallgsmefleh eripgayib.

11. If there is any printing error, or error in page No. in the question r, the same should be brought
to the notice g the invglgilalor immediateﬁ?.g 5 i
2 105 eferrggneled aGsgb s epCun, udsnsear sflwrs @darall L rGer,
Gupurienaiwreriiib wpepull @ sflwuner Gasralgsrenarts Quppls Gsmereswmp
J;ﬂﬁmmmiéﬁﬁuei@mﬁf-

12, All the questions are bilinguial except language questions (English & Tamil).
um_ i (2B wppih giblp) Gasrallseer gailids semardg CasralsesLd Graw®
Guomflsafigyib Gar@as i Herarer.
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- PART ‘A’ : General Knowledge

UGS ‘9’ : Gung) oyflay

. Forbecoming a Lok Sabha member the minimum age limitis
A) 21 B) 25
cpbS 101 D) 35

- s o nlaTt HyeusHaETeT GODEFULF Qg 24 ST BHGT 2y, LD

A) 21 B) 25
C) 30 D) 35

years

- The number of official language in India is

A) 14 B) 15
C) 18 D) 20

- @pBwrelles yiBsMdsin L Qumfadier aeiresams
A) 14 B) 15
C) 18 D) 20

. Money Bills can be delayed by the Rajya Sabha only for
A) 30days B) 20days
C) 14 days D) 7 days

. PBwBsrgriser wrfla seraarmsy SIGFene BT &6 LoL” (b SMNLELIIREFMD ?
A) 30 gnlser B) 20 mm &ar
C) 14 prc aser D) 7 pmaer

- The Governor of a state is appointed by the

A) People B) Parliament

C) Chief minister D) President
- 96 wifaiPer genper Hudiiug

A) wéaer B) LITFTEn e LD

C) wpse syaniodarn D) @ywoss seneveui
- Price Discrimination is possible only in

A) Duopoly B) Oligopoly

C) Monopoly D) All the above

. afleew Gugth sm Gise SneTLILIB Qugs

A) @weui gpppifenin B) feGauni upppifenio
C) wppmifeno D) sienenggih
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6.

Too much money chases too few goods refers to
A) Costpush inflation B) Hyper inflation
C) Demand pull inflation D) Profit push inflation

- ABsLLgwner ussmb 1055 Benphis LSTLGsmen SITHSIQUS

A) Qeewey o.fg Len aldaib B) fena Gauals uesaldain
C) Gaenau @uptiy uemalssid D) @wiru o g5 uewalish

. Production refers to

A) Destruction of utility B) Creation of utility
C) Exchange value D) None of these
- 2 PUSE GIELZ
A) vwetum g er syfley B) v e o @meund gged
C) wmpp) w@ny D) ezioqfisena

. The demand for the factors of production is

A) Direct Demand B) Effective Demand
C) Derived Demand D) Aggregate Demand
. 2 pugBdsnen sngerflsefien Cgeneau sreiiig)
A) Groys Gaanay B} 2 mB4 Gaeneu
C) Qupiiu i Gaenar D) ol @Quwriss Csene

- When goods are imported for the purpose of export it is called as

A) Foreign Trade B) Home Trade
C) Entrepot D) Trade

. IppIGatlser QunmL s @piEw0s QFiuur L n® seer — erem
SepaEaELiLfHi
A) Qeefipr @ elwnumgth B) s éimpm @ edwrungib
C) wp appiod ewmimgb D) aYwmrumgin

. All the items given in the adjustment will appearat_____in the final accounts
A) Three places B) Two places
C) One place D) Four places

. QBé semagast swni Qadiuliu@enauies alldsl Baelled sriL@h syevengs
Redisesd — Ggneipyib
A) epenp @)L misefsd B) @@ @) risefsd

C) 9@ Grib D) mreig @) disaled
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. A Hollow metal ball carrying an electric charge produces no electric field at points

A) outside the sphere B) on its surface

C) inside the sphere D) at a distance more than twice its radius
. erggn’ b Qupp 2 erefpp Caner's kg g apsls yareluley e jwsams

TpuB sz ?

A) Gareorg@er QeuaflGus

B) Ganmeng@ar GuopLigiinfed

C) GamengBeir o enGen

D) siger syod@eir @ oo m@nG G o drer s106 5860

. How much energy is released when one amu is wholly converted into energy ?
A) 1 Mev B) 200 Mev
C) 931 Mev D) 10°Mev
. @05 amu Flespwrengl Hppens wrpoL uEBEUTE, Ceveflad @b yppells syemay
A) 1 Mev B) 200 Mev
C) 931 Mev D) 105Mev
. Among the following, which atom does not contain neutron ?
A) Helium B) Hydrogen
C) Oxygen D) Nitrogen
. dereuggeusauppsn, lyg preir Geevns sygmy o1l ?
A) adelluih B) emapi ggoeir
C) gy dalggeir D) enpi ggpein
. Which gas is used to weld and cut Iron metal ?
A) Ethylene B) Ethane
C) Methane D) Acetylene
. @@iby 2 CGeunsgeng @) enenrds Hpid Qe LweTLE L aumy sTE ?
A) ap@eber B) miGser
C) 55Ggen D) 8 g efein
. Biochemical mutation is reported in
A) Sorghum B) Cicer
C) Neurospora D) Drosophila
. @G Bed wippih @8 savEiiydsiuc g
A) Gasnarib B) enssi
C) PyGonevGungn D) u@onGsmisvenm
. Which of the following is a Cy plant ?
A) Maize B) Sugarcane
C) Rice D) Amaranthus

. Wereugpsuemsupmie e1g1 Cy gmeuph 2

A) wasnGsrarh B) sumiby
C) Qe D) wiwongsen
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17.

17.

20.

20.

21.

22,

23;

Who first developed Vaccine for ‘rabies’ in man ?

A) Robert Koch B) Joseph Lister

C) Louis Pasteur D) Stanley

wafiglled Goilav Gpmiidw wpser wpseile SOULRenw sei Biset
A) @orunl Gans B) Gumrats eflevi

C) gud umevi i D) awBi_sirad

- The most abundant ‘Green house gas’ is

A) No, B) O,
C) Co, D) So,
- Qubunsienwwng snestiL@ib aemenmy. of® ey
A) No, B) 0,
C) Co, D) So,
- If two straight lines are perpendicular to each other, then
A) myxm,=-1 B) myxm,=1
C) m;=m, D) m=-m,
. @@ GriGsn@ast gesCaneny Glanig gz erafleh
A) mxm,=-] B) m;xm,=1
C) m=m, D) m;=-m,
2 2
The length of the semi-major and the length of semi-minor axis of the ellipse ——+ l—é/; = lare
A) (26,12) B) (13,24)
C) (12,26) D) (13,12)
x2 2
—t+—=—=lgdap Bereu’ L g@eir gyevy QpLLde wppih syeny @Dpds Bermiser
144 169
A) (26,12) B) (13,24)
C) (12,26) D) (13,12)
HMEwmf) emdlp” eeingy GuapprL@LUan
A) Fgibugrrser B) CsaBpwiiumaineni
C) @epi@u sgsermi D) gn. 9. Geglerenen
Epniiygnemgeng GupBlweri wri 9
A) @ewEi@ywavgTear sn@ly B) o opiiyeeni
C) saroungiliyevei D) sa8b yysveuri

A Sonnet is a short poem written in
A) 14lines B) 10lines
C) 12lines D) 7lines




25.

25.

26.

21.

27.

28,

29.

29,

30.

30.

. ‘Euphemism’ is the use of

A) Offensive word
C) Eponymous words

-6-

in the place of harsh words.

B)
D)

Inoffensive word
All the above.

The Gupta ruler who was hailed as Indian Nepoleon

A) Kumar Gupta
C) Samudragupta

B)
D)

Chandragupta IT Vikramaditya
Skandagupta

@FFw OpLGuredwer sreiny LspUrLC L @US s Punert

A) Gurr GUsT B) @oewimb spBo@lis aldmonGswi
C) swpsdBr @iz D) svass @GList
The founder of the city of Madras
A) Dupleix B) Robert Clive
C) Sir Thomas Roe D) Franeis Day
. Claewenen paeany Hlpafweurt
A) gy iGer B) grudl enere
C) &7 gmoev Gon D) dgneren G
‘Sathi’ was abolished by
A) Lord Hastings B) LordWilliam Bentinck
C) LordRipon D) Lord Curzon
o8 wpeopou gfidsar
A) Gapevgsiev gy B) aflsbeSluib Gusngm gy
C) Aouer Ay D) adseir 1901y
The birth place of Renaissance was
A) England B) Germany C) ltaly D) Russia
. goetF& uiler smusib
A) BERwrss B) Glgrined C) @saned D) paywn
The West flowing river of India is
A) Narmada B) Krishna C) Godavari D) Cauvery
@pBwraller Cup&e umub BEwNEL
A) piwst B) ®mapenrm C) Cangmeud D) anCGeauf
The important sugarcane producing state of India is
A) UttarPradesh B) Karnataka
C) AndhraPradesh D) Kerala
@pBureler wpéfuw s@iby 2 HUSH Owiiud wrfled gy @b
A) 2. 58m5Gssid B) sign_am
C) apPnrGssib D) Gapern
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PART ‘B’ : Psychology, Law and Police related subjects

UGS 9y 2 orafwe, FL L 1b PMID FTeuG D FDIDFSLILIL Ll

31

31

32.

32,

33.

33.

34

1/3 portion of a tank is filled, with 80 litres water. If its half portion is filled, what will be the
quantity of water in litres ?

A) 120 litres B) 160 litres C) 80 litres D) 240 litres

o6 sevanfi Ggmgudsr wafle 96 UGS 80 el L i semefpL e Ariuliuc Geramg.
Qgm iy uilshr syeny LGH ApLLOULL N6, sBgydrer sawestier sjerey stégener el it
HGL ?

A) 120 el s B) 160 afl o i C) 80 &l e i D) 240 efle i

There are some bananas in two bags. The number of bananas in 1% bag are 1/3 more that of
the 2" bag. If there are three bananas less in 2" bag than 1% bag, then calculate the number
of bananas in 1% bag.

A) 6 B) 9 C) 12 D) 15
Q@ eusaflst aurenp LpRIsar o stenen. wpged evLuflgysiter Liphiadr @) getm_reig

enLufigysten Liprisener o 1/3 we i@ s@awrgh. Gosm_raug el 1pse e
2 ¢iraneng eflL_ 3 eunenppUiLipriseT Gepairartey, (g soLudgysirer LILpIISEnarT &e5Teh &) (5%,

A) 6 B) 9 C) 12 D) 15
A'Tea trader mixes the two qualities of teas into one at the ratio of 5:4. The rate of first quality

tea was Rs. 20 per Kg and of the second guality Rs. 30 per Kg. He sells this mixture of tea at
the rate of Rs. 27.50 per Kg. Find out his profit percentage ?

A) 10% B) 124 % C) 15% D) T4 %
Caali gner afpueut @marens iggiersenen 54 4 e eIRNsEHD sad@pni. (LpEev B0
Bgafi grafsi aflensw HCeunailpg e5. 20 -b, @oedn_nib gs grefler aflenew HGevr en.30 gy @b,

sl tb Qsiis © grener HGwn, 5. 27.50 srsip B3P alpprsd Renl @b
ey 55 alRgeans sem(iiy.

A) 10% B) 12 4% C) 15% D) T%%

- Raja slarts from point ‘A’ and goes 5 Kms to the North. Turning to right, he covered 7 Kms

distance and again turning to right covers 5 Kms distance and arrives at the point ‘B’
How much is the distance between the points ‘A’ and ‘B*?

A) 5 Kms B) 7 Kms C) 12Kms D) 17Kms

@orgn ‘A erggiid yerallufled yribifdg, L Besufid 5 AGaur i Qaw@pri.
wliugan B T HGen UL grogptd, beim@ib awdiudst B 5 HGeur
Bl grogpd Qeery'Bargyih yerelleow seBpri. yerell A 4@ Bégh
@ e CBuujerer gnoth ersitew 7

A) 5 8.8 B) 7 8.4 C) 12 8.8 D) 17 8.8
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35. What should be put at the place of ‘X" in the following figures ?

A) 25 B) 47 C) 3 D) 41
35. Bypssam ugBe ‘X' ereip QLB @wss Ceuaimyw ereir eraien 7
AN
4 : g

A) 25 B) 47 C) 37 D) 4l

36. What number should come in the place of question mark ?

27 24 51
19 | 46 3 |57 32117
A) 83 B) 75 C) 64 D) 69

36. Gaeralls Ml L @) gBe a1fs eremenentd @ f. Geousir@ith 2

27 24 51

19 | 46 3|5 RN

A) 83 B) 75 C) 64 D) 69
| 37. Which term is not correct in the series ?
15, 45, 90, 360, 1080, 2160, 6480
A) 90 B) 360 C) 6480 D) 1080
37. Bperer auflensd Gasni e seupren ereir a1z 2
15, 45,90, 360, 1080, 2160, 6480
A) 90 B) 360 C) 6480 D) 1080
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38.

38.

39.

39,

41.

41.

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correcly ?

A) 12 B) 16 C) 18 D) 24

9@ wismaer sfiluns Qeig semégaeman el @)@ L KIE sewd@aer sauprss
Qadigisirenmeir. oybs tonenreusit 48 semi@amens Gz drarneh sIepIey, Sjeuat Glauls
shlwnen semd@sellen aremenfiiens areieueray 2

A) 12 B) 16 C) 18 D) 24

A coin was tossed two times. What is the probability of its head and tail on the ground ?
A) 0.25 B) 0.50 C) 0.75 D) 1.00

96 #1% QBupep Feimy el LUl L gl SIFT genavuih, aigyth (4, geneu) genguflch
alupausp@iu Nepsae) aaer o

A) 025 B) 0.50 C) 0.75 D) 1.00

- At the fair I bought 6 erasers and 2 pens for Rs. 15. If I could have bought 4 more erasers for

Rs. 14 than pens for Rs. 9, the price of a pen was
A) Rs. 1.50 B) Rs. 1.75
C) Rs. 225 D) None of these

- 9@ savsn Nuiled prer 6 guLtsEgd, 2 Cuadses 15 esumise and® Gerer. Qrssih

4 Guenmndssr 9 erLTiEEG MunBIGuSHEG uBwrs @etayib 4 pUuisd Qurssth 14esLmd
wi @b QsrBsg auniiRers g Cuamaler alene sreraara 7

A) Rs. 1.50 B) Rs. 1.75

C) Rs. 225 D) @ee aigiapb@eienay

Whether “LUNATIC” is a competant person to testify before the court as per Sec. 118 of the
Indian Evidence Act ?

A) -No- He is not a competant person

B) -Yes- unless he is prevented by his Lunancy from understanding the questions put to him
and giving rational answers to them

C) -Yes- He is competant to testify only in civil cases

D) None of the above

QpPw snepd L gHer iflay 118 ar Lig “ss1 gupei EBaipsBe s HGlFrsia

H@E aumiiEseugn 9

A) @ - sERuBpert

B) ayib - perefliib Gar siiu@ib Caaralladn yfjgsQandoras sappiée
uGHsHlah@ass uRGs@mBETHLILSDHEG Hurg VdsHeaw sl wirs @ evevraiiy s

C) b - 2 Aevwaupd@salss wi @b rNGeshe H@BaMuEsITS SEELILGMTT

D) Gulew Gendrer eflen._aser Quimggisng
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42,

42.

43.

43.

45.

45.

-10- 1L

“A" Prosecutes “B” for theft and wishes the court to believe that “B” admitted the theft to
“C” — who should prove the admission of “B" ?

A) *C" should prove the admission

B) “A" must prove the admission

C) Both “B™ and “C” should prove the admission

D) Both “A™ and “B" should prove the admission

BEL@éGppsBniars o eretueut “@" eretueui g GppawsG Glgn@a&&pmi.
“6" seng@EL e Gupd “a" ereuali b gUiLEQEreTL i sTen BB weapiens
pouGae@Lb eter “ o BmpBpri. wri yEs apliyerew Quiiiids GeuarmBib 2
A) “&" GQinids Gesaim@ib B) “"&" GQuwinfss Geusw@ib

C) "@" wppnb “s" Guodnféds Guaw@n D) "o wopih “@"” Ciilés Gaedr@ib

Whether a “Police Officer" shall be compelled to say from where he got information as to
commision of an offence ?

A) Yes — He can be compelled by court

B) No - He cannot be compelled

C) Yes — He can be compelled by Defence Lawyer
D) Does not arise

HTQISH QYT sTUIULLD G GHPL LAwiiul L Cgem e sSTEEnTUlLD ST E)( F S
Guppni ersirg GgMafd @by SLLMUU@BES (pigefon p

A) @b - fRiosipgged

B) wpypwng

C) b - a@igaiiny anpisflesoned s rw LGGs apigyh
D) Gupensrer allenaer Qunmisns

- “A™is charged with travelling on a train without a ticket. The burden of proving that he has a

ticket is on whom ?
A) Prosecution B) The Burden of proof is on “A”
C) Burden of proof lies on the court D) Does not arise

- Vo Merdtuaut LwesE R 1 sevmned Qpuflelleh Lwennd QriissnE GO s L UGS pri.

et @ Lwend Fen e B EsnT eTaTLIeng Goinfé @i senn wieng FMTBSFTSLD ?
A) syrEsocfed B) Quuindsg@h seniw “o " eneu FATESSTELD
C) GQuoinisgib sen FRweipiems D) GupGensrer Gaerad eipng

FMEEE T &L
How many witnesses are required to prove the “facts in issue” in a case ?
A) MinimumTen B) Minimum Twenty
C) Minimum Five D) No specific number of witnesses required
@ aupdBled 19gdsemen o cirer FEIERaer 51955 sivevg Coindds adsenar Fm’ Puib
Gaenau 7
A) geppsiul s - 10 B) geopisu b - 20

C) geoppsiuc s - 5 D) eiggenen snRuib Gzeneu sram
uenTw A& allshensy
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46.

46.

47.

47.

48.

48,

49,

49,

Whether in a criminal proceedings the fact that the person accused is of a “Good Character”
is relevant or not ?

A) Relevant B) Not relevant

C) Only in specific circumstances D) None of the above

GOPVUPES BLalg s S1BI BH@enTh 8 e weurt STSNLIG TGN Frhieh )
Oamiiyppsns s Eibwr (Sisbaug) @evenevwr o

A) Qgmiiyppsna sescu@b B) Qam_iuppgns amsiu@ib

C) Ao @phensvaaian Qsmiiyppsr@h D) GupGersrer eflene e Qungisng

How the contents of the document may be proved as per Sec. 61 of the Evidence Act ?

A) May be proved by “Primary” or Secondary evidence

B) May be proved by circumstancial evidence

C) May be proved by oral evidence

D) None of the above

@EBw en’ Ruéds L gReb iley 61 & Lig gy ouesriseRar 2.GeT_dsgens sTLILIg
Qoindsssh GeustaGib ?

A) wpaass srC RwégnGeor, @ueir_njsr sn’ RuisnGeanr Guinidash

B) @phleravs snsip apevih Quoinfdseonch

C) aumit@umy) sm’ Huup fpsuLh

D) Gup@ansrer aflent_seir Clunmpsng

Whether a Judge can ask irrelevant question on a fact to a witness during trial ?

A) No—Judge cannot put such questions B) Yes— Judge can put or ask irrelevant questions
C) No - But he can ask in civil cases D) None of the above

26 BPLD pRait aifs sisRew uppu “Qar_iupp Gsereflenw” Car'a piguyinm 2
A) gppwng - Qgniiupp Gasreflew Gar s P wng

B) @b - Qsm_iupp Gasrefenws Gar sevomh

C) wpywng - gyemmed o Menio aups@aailed G Cal senth

D) Gup@ererer afent_seir GCunmisng

When a man is presumed to be “dead” as per Indian Evidence Act ?

A) If he is not heard for 15 yrs or missing for more than 15 years

_ B) When a man has not been heard for 7 years by those who would naturally have heard if he

had been alive

C) When Death Certificate is produced in the court

D) None of the above

9@ wellsi @mig o ai srer BBwepib e1IBLng H@semb o

A) syeui sraigeranmi srer efluimp 15 UL AIFEREE Gos CQaMwmnsd Gurearte SHeaug
jeui et Gumermey

B) wyeui o ufimieir BGERGOLITRD Seuenyd upd Qusvuing Gaserad [NTANTYG Y ¥ 3
1y WIS arpprair(® FNVEHIEE Souegls upp Caaralti L eflsvensy eren
CluouliRd e o e

C) st @uia o L sns FNHP F15GFD Criigas

D) Gup@ensrer afent_aer Qun@ssns
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50.

51,

51.

52.

52.

53.

53.
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. 'What is meant by “Leading Questions™ as per Sec. 141 of the Evidence Act ?

A) The question asked by Judge

B) Any question suggesting the answer which the person putting it wishes or expects to receive

C) The question asked during ‘Re-examination’

D) None of the above

@pBw enerpFe’ L g@e Iiayld] e Uy allan GurRallerrdsen sTepIel eTaiTen 7

A) BPuweapisre Cslsliu@d Casral () aflert

B) eferey@lp e@eaui smb Qup el fp sdeg adiunt@em efen.senend @piLiums
2 ewigSID eThs allewmayLb

C) gy afstyeamemufier Guig Csl sliu@d Gaaal

D) GueGlenerar aflent_adr GlLmsEETS

A clock is showing the time 12 hours 40 minutes. If a mirror is placed in front of the clock,

then what will be the time seen in the clock through the mirror ?

A) 11 hrs 20 mts B) 12 hrs 40 mts

C) 10 hrs 10 mts D) & hrs 50 mts

9w sy anrib Crrsens 12:40 eren a1 QE LS. @b scsvemnig e HES H19.5008 B e

(peitened enaugsTer, su.sTTSE GRob steenains seimenmy uilsy Gafuh 9

A) 11:20 B) 12:40

C) 10:10 D) 8:50

‘A’ and ‘B’ are real brothers. ‘C" and *D’ is a couple. *E" is the daughter of ‘A’. *B" is the

father of ‘D’. The husband of ‘F' is ‘B’. The mother of ‘A’ is ‘G’. *C" is the husband of the
daughter of ‘B’. *H’ is the daughter of ‘C’. What is ‘H’ of ‘F" ?

A) Daughter B) Grand daughter

C) Son’s wife D) Daughter of the daughter

‘Al-th ‘B’ -1b 2 edwenownen sCGanggigen. 'C' b, ‘D’ -1b gibBaer. ‘A’ -ar waer ‘E'. ‘D’ -elr
sieng ‘B’. 'F' -eir semreui ‘B’. ‘A’ -ar gybor ‘G’ waen ‘B’ - e senreui ‘'C’. 'C' -ei et ‘H'.
‘F i ‘H areien o pay wpenp ?

A) wssir B) Gug®

C) wseflsh weanemal D) waefier waer

A shepherd had 17 sheep. All but nine died. How many did he have left ?
A) 9 B) 8

C) 12 D) 7

9@ Guiiiudr 17 y@sdr soaugBpsrer. seuppled gerg s@amang el wppenal
@oigefl _en. Bsupsien 2,@\H6T eTEGenen ?

A) 9 B) 8
C) 12 D) 7
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55.

56.

56.

57.
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58.

58.

Ramesh is standing on the bank of a river with his back facing the river. A piece of a paper is
flowing in the water from left of Ramesh to the right. If the river is flowing from the west to
the east, then find out which direction is Ramesh facing ?

A) To the East B) To the West
C) To the North D) To the South
7Bwep pEuls sepBurgghed st wgiGLPms srlguuy ey Oy s prt,

96 Mfw anflgs gew® 1Gweflar weliypsPemis @Lgiypons FBU AEEs!
QedBlpgl. pPurerg CupRdmis Bwssrs undssred, 1Gwey Gprsd e g
Besaw sem@iigdsa)ib,

A) BpaE Crrim B) Gupwe Cpréd

C) e dg Cpné® D) GQspwe Bpré®

‘A’ is the mother of ‘B’, hence ‘B’ is the daughter of *A’, This logic is

A) Right B) Illegal

C) Doubtful D) Totally wrong

‘B’ éir gyibion ‘A’ . sreaBeu At waer ‘B’ srenCGou @)fs sidsoneng

A) &l B) #ili a9Cgngoneng

C) #5Caada 4 rarg D) wppmiauid seupreng

What will be the relation of myself to the paternal aunt of the daughter of my maternal uncle ?
A) Paternal aunt B) Wife of my maternal uncle

C) Sister of my mother D) Aunt

sTeRg LW SO0t wasller Fhamg afl yjenga@i creard@Lh eTeien 2. ey ?
A) speng anfl sisens B) sminomost wenewad

C) erérgyuent_w syibionallesr sGamsd D) sz

In a certain code “TOGETHER” is written as ‘RQEGRICT". In the same code, ‘PAROLE
will be written as

A) NCPQIG B) NCQPIG C) RCPQIK D) PCTQNG

9w #Gsg @Bl e “TOGETHER”, RQEGRICT ster sraps il Gering). oG5
@iy ‘PAROLE' e1ps e1@dgidanins siupsliilygmh@id 2

A) NCPQIG B) NCQPJG C) RCPQIK D) PCTQNG

If 'POND’ is coded as ‘RSTL', how is ‘HEAR' written in that code.

A) GHIJ B) GHIZ C) JIGZ D) ICIZ

‘POND’ g 'RSTL sreirgy #38gs @i y.eb srgpBarmed 5Gs aiufigsh ‘"HEAR' @ eriiig.
STpB LD,

A) GHIJ B) GHIZ C) NGZ D) ICIZ
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- A peon told his friend, “The bell in the factory rings every 45 minutes. The last bell rang 15
minutes before. The next will ring at 3.45 p.m. “At what time the peon gave this information
to his friend 7

A) 3.30 p.m. B) 2.45p.m. C) 230 p.m. D) 3.15 p.m.

GG AP uws 2 gefluneni ger pesuiih, @)is Henevullen s 45 Pl D5 @ e
o gfldEh. s gng 15 BB GBpH upeinysnet 9E551. HEEH FEIE wrew
3.454@ glld@h eeingy ampenit. o5s AP 2 gallwmert ger pevLmSG @Dis
alapwgens stésamar wesflé@ Ganerarmi o

A) 3.30p.m. B) 2.45 p.m.
C) 230 p.m. D) 3.15 p.m.
. IfR is ranked second and Q is ranked fifth, which of the following must be true ?
A) S is ranked 31d B) T is ranked 6"
C) Pis ranked 6'h D) V is ranked 4!

- R @Quen_raug @180 @@psre wipih 'Q wistes GLiBe @wisne,
Bpsasin_suppfley erg eflwrengml @ 2
A) 'S’ aperpreis @)L Beb o sirangy B) ‘T gyprougs @ sBeb 2 sirengy
C) ‘P mpreus @ EBeb o cireng D) V'prensreug @G sB6b o srarg

The mother of Mohan is double the age of his sister and his father is 20 years older than him.
On the day of the birth of his sister Mohan was 5 years. If at present his sister is 17 years then
what is the age of Mohan’s parents separately ?

A) 34,35 B) 38,40
C) 34,42 D) 42,34

Cuonaafiar i, seucr eGangienw afli @oeir® @ HDs aiwugib, SDIUGIEL_1
spog sjuamer ol 20 euwginb B sapererastasr. Gionmeafsr aCGangdl 9pEs Cuneps:
AU g S. sHOLTPS Seusit #Gans M awwg 17 ereiipns Gionzadlssr
QupGprier anug ersirew o

A) 34,35 B) 38,40
C) 34,42 D) 42,34

I bought fruits from the market in a bag. Looking at the bag, my daughter asked me about the
Quantities of fruits. I replied all are oranges except 15, all are mangoes except 20, all are
bananas except 25, how many fruits are there in the bag ?

A) 40 B) 60 C) 50 D) 30

B spens i g Ul Lpmiser amkf wEGsedr. eLiew LTidgs s1e waer,
uptisefien aremenfiiensenw Ga L e, 15 #al7 T 1E5e LpEiser sraih, 20
Briseons senerdgib wmbLpiser, 25 fhseons SISGFILD QITEHIPLILILPEIZET sTaTpILh
s PfGarer. el Bhs Lipriaefenr Qungs sraenlidens ereien o

A) 40 B) 60 C) 50 D) 30
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Manohar starts moving to the north from his house to go to his friend’s house. After covering
the distance of 100 metres he turns to right and covers 400 meters distance. Again he turns to
right and reaches his friend’s house after covering the distance of 400 meters. In which
direction and how far is the house of his friend from his house ?

A) 500 m, South-East B) 200 m, East

C) 500 m, South-West D) 300 m, South

wBernai petrut el pE GFsa, seir ol 1g.e8lBHS I LDLOTS Gaaw@pmri. 100 Bl
i Qedrp Werert aaliypy Bibld 40080 L1 girsens sLa@pri. BeET@w
aautiyptb Bt 400 Bl i grob Gy perui aft el SyenL_Bpri. perrueatler af @
ahs Benauiled, ereieusray s1usPe GmsHpgr 7

A) 500 i Qgeir-BpdE B) 200 if @ypés
C) 500 18 Qgeir-Cuop@ D) 300 £ Gan@

. A bus completes half of the distance at the speed of 30 Km/hr and completes the second

half at 60 Km/hr, If the total distance is 20 Km then in what time the bus will complete the
distance ?

A) 90 minutes B) 60 minutes
C) 45 minutes D) 30 minutes

. 9@ Cumpg Qsdew Goemyw FTEPD LTBaw wenfld@ 30 B.8 CassPaib, BH

ur@ew weflaE 60 8.5 CausgPah sL_&5DgI- Guongsib Glasvey Geusimgw 1o
20. 818 srefled ereiseuaray wenll GEosDeh GBS Jbs SNTEMFH GL GG ?

A) 90 g rissir B) 60 gifl_miser
C) 45 gufldiser D) 30 fiflmissir

Which of the four numbers given will complete the number series when put at the place of the
question mark ?

2.5.02,27, 7

A) 54 B) 36 C) 24 D) 58

Bapeirar 4 aramaellel e1bs ered, eTaT Qprfgysrar Gserad GHleow LisH Qadiuyb ?
2,5,12,27, 7

A) 54 B) 36 C) 24 D) 58

. There are 50 national level players in a college. The college specialises in three games.

9 players play all the three games. 17 play only two games. 5 play volley ball and tennis.
7 play volley ball and cricket. Equal number of players play only cricket, tennis or volley
ball. How many players play cricket ?

A) 22 B) 29 C) 20 D) 34

. 9@ swgnifier 50 Gaflw serallsh aflamarun@ib wremTeufiger o arerent. SEs seugai

apsirg aflenemuT (s@sHG HOLIL L8 Hehd@pg. 9 afleerwn’ @ oIgisdr apsp
adenerwirl @befenerwr@eurt. 17 wremeuis 2 efearum’ Gl G Gw aflen e (B eu.
5Gu  ‘eumedluned’ wppnh ‘G eraflen’ efmeaur@ert. TGt ‘euneSlumgyid’
DRSS EL eemerun@eut. s eeTenldmas gher afenarur @ adgrisen
ANéGsL, OLsraflen Hwveg aurelury wl @Cw almerur@art. srggenen Gui
BM&0s . afeaur@Gat 7

A B) 29 W D) 34
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‘A’and ‘B’ start from the same place for the same destination and they take the same route.
‘A’ starts at 8.00 a.m. and he drives at a speed of 40 km per hour. ‘B’ starts at 9.00 a.m. and
he drives at a speed of 50 Km per hour. How much time will ‘B’ take to catch up A" ?

A) 3 hours B) 4 hours C) 5 hours D) 6 hours
A, B @Qoaumn oCr @@ yobiidg. 05 aflulen, 9Gr @)L g Oeamenw
Geueim@Bid, A srenew 8 wenlldw Gar m®, wedlldg 40 H.0 i CaussBPe gl @& prr. B

srene 9 wenflé@ ypLUUL G wenflde 50 A6 i GauadgPe oL G&pmi. B, A enau
Geerpenw steuauarey Gpowb G ?

A) 3 wenflser B) 4 wenflaer
C) 5 wenflser D) 6 wenflasr

. The following arrangement is based on a certain principle. Keeping that in mind fill in the
vacant space.
81614
3 7
14 | 16| 18
A) 4 B) 5 66 D) 8

GO L e ew sy lueLwiss Qaram® Bupsrer st GReb et e
sipF LI Rerenear. &redlwns o erar SUL Song BIiLs.

8 (64

3 7

14 | 16| 18
A) 4 B) 5 C) 6 D) 8

. Find the missing number in the matrix

4 3 5 7
7 6 8 9
8 2 12 ?
20 16 28 50

A) 13 B) 14 C) 16 D) 18
Buperer GLLGH sneLIULTE STewen ey Sew(BLlg Saayd.

4 3 5 7

7 6 8 9

8 2 12 ?

20 16 28 50
A) 13 B) 14 C) 16 D) 18
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70. In a family there are five brothers who are not yet married. Each brother has a sister and the
mother alive. How many women are there in the family ?

A) 6 B) 10 Cc)2 D)5

0. 96 GELUHR® BEoemonsns 5 s@sngyias osreeni. @aGans sGansrmis 9
#Qang b, sy o WmL e o_srarenit. Sihs GHUSRD 2 erer Qlueasr aTdSener 2

A) 6 B) 10 C)2 D) 5

71. Arrange the given words in the sequence in which they occur in the dictionary and then
choose the correct sequence

1. Protein 2. Problem 3. Proverb 4. Property 5. Project
A) 1,2,3,4,5 B) 2,1,4,3,5 C) 2,5,4,1,3 D) 3,4,5/2.1
7. Bpésngmpub e aunidenssenen SISITE (perpLiLiy. euensiiLi®dsea b,
I. Protein 2. Problem 3. Proverb 4. Property 5. Project
A) 1.2.3.4.5 B) 2,1,4,3,5 C) 2;5:4.1,3 D) 3,4,5,2,1
72. In a certain code language water is written as food, food is written as tree, tree is written as
sky and sky is written as wall, then fruit is coming from where ?
A) Water B) Food C) Sky D) Tree

72. 9@ o305 Quomfluilss, §i o enrey sTearayib, a.ewrey b sterayth, Lo auTeTLh sTemey LD
eurerh saut ererayLd Glarem ey, Lplh 1R BES GBS DS

A) g B) o emey C) sunemib D) wmib

73. In a ceratin code language Room is mentioned as Bed, Bed as Window, Window as Flower
and Flower as Aircondition means, you will sleep on which ?
A) Window B) Bed C) Flower D) AirCondition

3. @ s6iGsg Qmfuilss syem stetLig LB Fena steraib, LB FHams geirars: b, goed
i srerayib, i @ellterganih srend; Ganain_meb, @oaer s1Beh o pii@eumsir

A) meirews B) u@éens C) D) wefisnsemns
74. Your family is giving many unsatisfying reasons for not marrying the person whom you love.
What will you do ?
A) Twill listen to my family
B) Will be in a confused state and not able to take a decision
C) 1will marry according to my wish
D) Convince my family to marry the person whom I love
74. # Bowend QsdigGandrer GaipQs@ssih ewmamrs Bsoemid Clsuig Cardrarssm_ns
ereiTLgDans LeGag Cenpsd sryemEisenar o owd@g BouPueldsns aensuled o eng
GOuBent mpSepent srefley, £ sreires Qedicunds »
A) G@wbugBert Qerpuy. pL_Ggid CaraGes
B) Agis Gpuusgignb, wpya@ss pyurs Heoewuiayb @miGuet
C) ereng Gengs aflmiiuiug GsipCs@mssaemrCu wemmb wprg L1 Grisir
D) GsipCs@ssaemGu wemupiyds GEbLEDMe T Fbwis eraids tpup® GladiGassi
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Make a meaningful sequence using the following eodes.
1. Andhra Pradesh 2. Universe 3. Tirupati 4. World 5. India

A) 1,5,3,2,4 B) 2,1,3,5,4 C) 3,1,5,4,2 D) 5,4,2,1,3
Bipdasin_ curigergsmar Quimst anifs aflenswuns IHIS

l.oypBr 190Cgsb 2. myedm b 3. DGoud 4 swsb S, @ sBwr

A) 1,5,3,2,4 B) 2,1,3,5,.4 C)-3:1.5,4.2 D) 5,4,2,1,3
“Appreciation” is related to “Reward” in the same way “Disagree” is related to

A) Crime B) Guilt

C) Allegation D) Punishment

‘wron @ ufs e Qlgniysitong Guined ‘SannBiy e e QOsTiyemLwg 9
A) sl OCgwner Qawed B) gppib

C) gppéenpm D) seim_enew

What should come next ?

Theft : Confess :: Fault : ?

A) Commit B) Admit

C) Dare D) Mistake

suilensuileh o @Es575 g anGausir@ih o

Bl 6 : eppsos dgdQanst : : GopuId : 9

A) 2 piBwef B) guya@smsr

C) grenflayClamen D) seumy

“Read the statement given below and select the correct answer.

Statement : The decline of British empire should have spelt the decline of English.

A) The statement is a fact

B) The statement is an opinion

C) The statement is an advice

D) The statement is a prejudice

8Cpé Qan@ésiul Gerer syfldensenwu v gg sfuner ellen_enw CziEe)s 6 a0 b,
Sifldens : HRRLGurTaaler afpdSlwneng o5 HewsHeir afpsfpd@ sy Gangyh
A) siflderawuneng o ewenio

B) siféersunarg e sniofamwih

C) sifsemsuneng o H0aursamen

D) wfdemswuneng sni@uames sig v e S GI
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Pointing to a man on the stage, Rita said, “He is the brother of the daughter of the wife of my
husband”. How is the man on the stage related to Rita ?

A) Son B) Husband C) Cousin D) Nephew

Ml Guen s g5 weaflgenar silyysm’ iy, eeigyen w seragent_u tenerailufer
agnenw sGangye srer ampBprer. Cue gysien sybs wellge M rafllbe eniLig
2 peumgib 7

A) wser

B) semreusir

C) Sigeng/ oot/ Ngs e/ Cluflw e waedr

D) 2 énfpgsmi weer

PATROL is related to security in the same way as Insurance is related to

A) Money B) Protection C) Policy D) Finance

Gonganeng LngismLer Qg iyenwgl, 251G STLNIE G5 e
Qgm_iyenL_wig ?

A) uesmih B) wngiamninyg
C) emnf @ B b D) eumeunds

An accused committed an offence of house breaking by using false key. The M.O. classification is
A) 11 (K) B) 11 (C) C) 11 (N) D) 11 (V)

96 GopuTel sdand snafwrs ' oG Bpis By e, sog sibs GO
auemsLumiged @il @ss GausirE b

A) 11 (K) B) 11 (C) C) I (N) D) 11 (V)

Intimation about the arrest or detention and release of MLA's, MP's should be sent
immediately to

A) Prime Minister B) President of India
C) Speaker of the State Legislature/Parliament D) Chief Secretary to Government

gL wenp 2 punfent wpmih ungresosn epinlerisst eag Qe diuiu@bGung
Sevegl al@serw Qolwliu@bBurg s enguns Bpdsan_. @oaGHG saaed
GasMafdsiu. Gaissm@b

A) Sgsw wiHd B) @uwrsg sensvarit

C) 'L sewu/ungrnggwep sumpruwat D) syras sowen Qewsrerd

Which of the following sections of Indian Penal Code deals with the offence of
“Dowry death™ ?

A) Sec. 304 IPC, B) Sec. 304 B IPC.

C) Sec. 304-A IPC. D) Sec. 498-A IPC.

Bpaam_aupped @EPw sam_eend s gBer eis (Ifley “eunsl seent wrearth” LiH
@O GE DS 7

A) dley 304 @).5.4 B) 9fey 304 B @).5.4

C) ddey 304-A @).5.5 D) 19fley 498-A @).5.5
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Disclosure of Identity of a victim of rape is punishable under which of the following sections »
A) Sec. 376-A IPC. B) Sec. 377 IPC.
C) Sec. 228-A IPC. D) Sec. 509 IPC.

spufliiy @pplisele LTBESOLL L cuenT et Sjen_wimers Qgfuis Ly
Qeueliu@agise Spacm apg INeler Bp @hpih 7

A) 3fley 376-A @).5.5. B) dfey 377 @).5.5.

C) dfey 228-A @).5.. D) 9fey 509 @).5.5.

*A’commits trespass entering a graveyard and offers indignity to human corpse disturbing the
persons assembled for the performance of funeral ceremonies. ‘A’ is punishable under which
of the following section ?

A) Sec. 427 IPC. B) Sec. 296 IPC.

C) Sec. 503 IPC. D) Sec. 297 IPC.

‘o' e1ep put G Psmlgeust KdabD peypis wells ICrssens Sauo@ iy QFdigih,
SsrafllgBe FdsLmigamed QebasDhGd muy yaaaitsse @y
aflenarafld@pri. GuopLiny ‘@' puder Qrumnarg Sparab sips Giiafer 81 @mpidb ?

A) ey 427 @).5.0. B) 15ifleay 296 @).5.5.

C) ey 503 @.5.4. D) ey 297 @).5.4.

Sec. 494 of the Indian Penal Code denotes which of the following offence ?
A) Bigamy B) Adultery

C) Prostitution D) Criminal Conspiracy

Sifley 494 @EFw e enend sl ib Bpangmith eTaicuenawTeT &HpdBenar GG DE 7
A) sewausit ysbevgl weerel e ulg e Glodeh CunrGs Ban®uib Bupwenin Gadipe

B) wpenp Ipipigs Ljssridd

C) afusgsnmin

D) @ppupw #8

Which of the following sections denotes the offence of ‘Unlawful compulsory Labour® 7

A) Sec. 373 IPC. B) Sec. 372 IPC. C) Sec. 374 IPC. D) Sec. 375 IPC.
Bpangpd Ifeaalsy iz Ifay “Fu L yiauopp s mu o enplinf’ @ppsBener Lpm
@I g ?

A) 1ifey 373 @.5.4. B) fey 372 @).5.5.

C) dfey 374 @).5.2 D) ey 375 @.5.4.

If a theft in respect of any idol or icon in any building used as a place of worship in the state
of Tamil Nadu is committed, under which of the following sections it is punishable ?

A) Sec. 382 IPC B) Sec.379IPC C) Sec. 380 (2) IPC = D) Sec. 381 IPC
SUEPETL 1) 2eiTar sTES 96 gL 1b GLUIGaugHaTs LUSTLUESSLLERDBST,

Hdsl L gBayer oarer afldRrsgensCur yawg Heew aigageasCur seraundih
Cewwvreng siis Spsngpib fleler 81 samyssssdsg 7

A) ey 382 3).5.4. B) Afey 379 @.5.4
C) Sfey 380 (2) @).5.5- D) ey 381 @).s.4.
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Which of the following punishments is not covered under Sec. 53 of Indian Penal Code 7
A) Death Penalty B) Solitary confinement

C) Imprisonment for life D) Fine

RBpangid seivL_enenmeflsh SThp Fem_enan (Iifley 53 BEDw gam_eens FLLL G Beb
GO0 g gengy; o

A) wrenr gefm_enew B) safluns RenpensuliLig

C) @ueir gew_enar D) syugnzib

- Whoever by words either spoken or written, brings hatred towards the Government established

by law in India is called
A) Affray B) Rioting C) Sedition D) None of the above

- @BFwurelled sl iy Hpreud Qupp SR ener Qensboviiin’ SOV STUPSUII L

Canpaenr apeoviona Ceupitiyse 2 raEG R @Hmib STy S pEsILERNDng T

A) séspay B) sovaih afleneralld g e

C) wrssgConaih D) Gupllensrensnay sIgIa b Blimsbsng
Ram is taller than Shyam but shorter than Anurag. Anurag is taller than Raghu, but shorter
than Chotu. If Raghu is taller than Ram, then who is the shortest ?

A) Shyam B) Raghu C) Anurag D) Ram

D egwrenis el o2 wigLh yermed DIEITd NG ailL @siranih. s I@ear @l o wih,

Qened #FBrnPevas ol @sirentb. 9@, grenin afl 2wgns @Qbdsasy, wii Baah
GehemoneTaut »

A) apwmib B) 0@ C) osmona, D) omb

Rita introduced Ram to her husband and said, “Ram brother's father is the only son of my
grandfather”. How is Rita related to Ram ?

A) Mother B) Sister C) Niece D) Aunt

greLo Bei seweulitb syflapath Qodis Mi_m, gmBler sthiTufer SDILILIT 16T Fngsnaipe
980 waer ereiny e, Ly Quefay, ImBpE Al ereier o peay

A) sauds B) #Gansd C) spwsonfl sCansi D) Gz

In a certain code language, 'FREEDOM" is written as GFQDENN. How will the word

STRONGER be written in that code language 7

A) TNSSOFFQ B) TSNSOFQF

C) TSSNOFFQ D) TNSSFFOQ

96 GHUICEH Qumdiea ‘FREEDOM’ srggyiv Glarrred 'GFQDENN erairgy o_arerg.
Sy stafish , 50 GO ® GuomPuisy, STRONGER sTgib Ganeh ey (LT
ull . Fé @b 7

A) TNSSOFFQ B) TSNSOFQF

C) TSSNOFFQ D) TNSSFFOQ
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. If '+ is written as ‘=, *3¢’ as ‘=

22 LTI

LI

»'=as'x'and '+ as '+, then what will be the value of
the following equation 7

7-30 +5%x1+9=7
A) 205 B) 206 C) 216 D) 256

e = ereimpiih, ‘' 2+ ey, a0 'x" eremeyid,' +.’ 8V, aareud @idsne, &Gy

Qan@dgisier Fwoer L g eir Wiy ersitaeray o
7-30 + 5x1+9=2
A) 205 B) 206 C) 216 D) 256

If A + B means A is the sister of B, Ax B means A is the wife of B, A + B means A is the
father of B and A - B means A is the brother of B, then which of the following expresses the
relationship that T is the daughter of P* ?

A)PXQ+R+S5-T B)PxQ+R-T+S
COOPxQ+=R+T-8§ D)PxQ+R+S+T

A + BereitLigs B -sit siians A eremayib, Ax B steirgy Beir osnenafl A sremayid, A + Bereiriigy
B-sir syiiim A eremeyib, A — B, Béir 51009 A eremayih A@isred, BGp 2 sirer s155 SPOI@ ‘P
waer T srgpith o penau @M@ 2

A)PxQ+R+S-T B)PxQ +R-T+8
C)PxQ+R+T-S D)PxQ+R+S8+T

- Looking at a portrait a man said “That man’s father is my father’s son, Brothers and sisters [

have none”, Whose portrait was the man looking at 7

A) Grand father B) Grand son C) Son D) Father

geiluib geepl unigs, G weflsi Qeneireng ‘@G5 eefws B Boé@h puler spes
16T Fhenguleir waer, stend g gibifaCern, shienssGorr Ben_wngl. stefled, syaunt
gaMwEE Lnidgs T w0

A) snggn B) Gugseir C) waer D) spens

20 men can dig 40 holes in 60 days. If so how many days will it take to dig 20 holes by 10 men ?

A) 30 days B) 45 days C) 60 days D) 75 days

40 giemengener 20011t Gaipgy 60 prsafled Gum wpwgujih. sy Queiprsd, 10GLA
Cariigy 20 grevensener ersiiareray Fa aefch Guim_gpig upp ?

A) 30 prilser B) 45 g ser C) 60 pa aer D) 75 prtaeir

What would be the most useful thing to do first of all if you see a car going at high speed,
which has just run over a child ?

A} Note down the number of the car B) Shout for the driver to stop the car

C) Hire a taxi and try to follow the car D) Inform the police and take the child to hospital
90 Gppeonsulen 5g CurPall @ 5B Cusiwns Closvgyd @Eanensts Lnissme, Baser
GrdiuGarstmg w wpped wpph Bsayb 2 uBunsioner Qeweb e1z o

A) s aavenes mildas Glameireug

B} el @sen snenr Bpss@sneed o &S] (55 60

C) aur_ens sndlés mfs sneng Seir GlEmL_(HFen

D) sneusvangmée paasd 2S5l 6 Gpseoseuw oGS0 weamendE a@ESH Casews
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99.

101.

101.

102.

102.

103.

103.

Arrange the following words in a meaningful sequence and then choose the most appropriate
sequence from the alternatives provided below :

1. Police 2. Punishment 3. Crime 4. Justice 5. Judgement
A) 1,2,3,4,5 B) 3,1,2,4,5 C) 3,1,4,5,2 D) 5,4,3,2,1

. Bpasngpid Qanpaener Gummeserer auenauiley arflensliuGdg .

I. Gunslav 2. gewLemen 3. @opib 4. 8 5. Bioy
A) 1,2,3,4,5 B) 3,1,2,4,5 C) 3,1,4,5,2 D) 5,4,3,2,1

. 1/4 of a certain journey was covered at an average speed of 45 Km/hr. 1/3 at the speed of

48 Km/hr. and the remaining journey at the speed of 50 Km/hr. The average speed of the
whole journey is

A) 54 Km/hr B) 51 Km/hr C) 48 Km/hr D) 46 Km/hr

. BRI GF LG Lwesdens sgrefuns wenfldg 45 5.8 CeusgPe s_ds wpuyub.

1Buvewgeng wendlsg 48 6.5 GeousgBguid, b uperen uuegeng wenlls@ S0 §..8,
CarsgPautb S5 wprpujib. g Cwedlsd Grés LwesiBer sorsf Gousib ereier o

A) 54 8.8/ weadfl B) 51 &..8/wenfl  C) 48 8.08/10emfl D) 46 &..8/wend!

To whom the original post mortem certificate has to be sent by the Medical Officer ?

A) To the Judicial Magistrate concerned

B) Concerned Police Station

C) To the Inspector of Police

D) The Chief Judicial Magistrate concerned

wpsga sigyuet 1Grs ufGargemen e snanlenar wnps @ sepiiu Geusa@b 2
A) swisliul L gppalwe EFweaTp FH T Hyaniserd S

B) sbwisiiul L st Deaewwuidnss

C) wyiieunent syeuisess@

D) sewew gppalued gPwenp pEa oyauisesds

A Police Officer can investigate a non cognizable case

A) On orders from Judicial Magistrate

B) On the orders of District supdt. of police

C) On the orders of the Station House Officer of the police station

D) On the orders of the District Collector

PG Srausd ygyaiewt LY éss mLTg GDPLE FWWHSULL L supdens wrHenL_
HgByLsr Lsveir aflFmgenant QlFdiwevih,

A) EBsgieop FGeT B) wranli smeueh seavrarenfiliument
C) sms flevaw Qumgitiyy sjgyessor D) el L g Bwi

A victim of crime can lodge a complaint with

A) Court B) Superintendent of Police

C) Police Station D) All the above

un@ésiu’ L put Bpdaem @)L disefled ysri Qedwevntd

A) ERwsrpib B) snadigenp semarenflliuiment

C) a&meush Flensuwith D) Qupsan. senendg @)L mseligyh
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. In a complaint of theft of an article, when value is less than Rs. 10/=
A) The police should Register a case and Investigate
B) There is no need for the police to register a case
C) The police can refuse to register a case
D) The affected person can take action directly
. 9@ DG yaria gyumd 10 wBnfpée 8By o srer Qunggsr P @ Cureanmed
A) srusgieop apdE uBey Gaug FLanydms a@as Gaar@ih
B) sracgenn aipds uBe Qadw Causmgw saufub @G
C) snausigienp auipdi@ uBeay Gled pidsend
D) wurBéariu’ L eui Grrguns FLangsms sT@éswnd
Properties found on the corpses of unidentified persons, who have died of natural causes,
shall be taken charge of by the police and sent to which of the following authority ?
A) Judicial Magistrate B) Thasildar
C) Village Administrative Officer D) District Superintendent of police
Qupes snpenisared @oig Gumrer e wrems Cafwung Semiisaler Gogysren
Qenggidaenar araush gepllent e@sUupp LIGEES HHenp JIWIOT ass Geuei (b
A) BBszeop FEwT B) el ml Bl
C) Rgmw Hieuns sygyaicoi D) wraul L &meush seirameniiliLmenit
. Can a Head Constable or a Constable declare an assembly as unlawful ? If so/not, under
what provisions ?
A) Can declare-P.5.0 703 CrPC 36
B) Is not empowered-P.S.0 703 (d) r/w 129 CrPC
C) Can declare-P.S.0 703 CrPC 97
D) Can declare under emergency P.S.0-703 CrPC 147
. 9@ s srawBrr Hawg @ sTaunGIT S0 al1_geng s aNGITSLneT s 1b
1Ty eflenibLjens Gl yB b Ganehr_eumm 7 b/ Fsveme, areflet eTps LiMeysefelr Ly 2
A) gyib. sn.8.2. 703 &.5.5. 36
B) wfarmb Ganem_sugsewit 1.8 703 (d) &.5.4.129
C) gyb. sn.fl.y. 703 @.5.4. 97
D) ayib. sysusy sneviisele srg. 2. 7103 @.p.a. 147

Is a Head Constable manning police out-post empowered to register F1.R ?
A) Yes can Register FI.R B) Make G.D. entry and report to SHO
C) Only in Minor cases D) Only in Grave Cases

ypésnaedi i Qurpiidgyster it seweind srawi tppd seaw® Hfidems (FLR)uBe)

GFiiw B sTod ClEraTL o ?

A) b, wp.5.9. UBey QFdiwewmd

B) Quug s @i uBey Qsug Ostea@ s Fawu i GHE S fldend
Qe Beuehr(ih

C) 8m supd@aaie i Gibd

D) Qukigpprseie wi G
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108. Station crime history consists of how many parts ?

A) 2 parts B) Onlyonepart C) 3 parts D) 5 parts
108. sreush Penovurs GDP T 616 SeneT UGB ser Qaneim_g o
A) 2 ugBser B) ¢Gr 9w us® C) 3 UGB 6T D) 5 ug@ar

109. In respect of charges of tortures or death or grievous hurt caused by the police the senior
officer receiving a complaint should after a general enquiry, report the case at once to

A) AD.LG of police B) A Superintendent of police
C) Inspector General of police D) Revenue Divisional Officer

109. g BUGS @ sBoeuensGun, wossth Sevevg uRSTwGior srase Slenpulleagmel
2 SNLMESLILC L g seip Lsmi UGLTES Syeng Qupid o.wi B s Qungiauner g
aflsngener BLEPIN B o L_ampwrs HNF WIHE HyepinTeneuds Geuedwr(Hib 9

A) sreush geops gIenemtd sencveurt B) snessh seiwamenfliment
C) aras gioopsd sencveuri D) Gamli gy Sumeri < U 5 6 (&
110. The personal files of the Head Constables in the Taluk police are maintained and kept in the
custody of
A) Subdivisional police officer B) Superintendent of police
C) Deputy Inspector General of Police D) Inspector General of police
HO. gngyéan snash Perevur g D TE@Ben L LofgenTd Caniyssr wrgen_w
Clumpiinfes sneugg ugmofés u@Reng o
A) o Cani' L smeush S D& B) sneush sewsrenfiliumen
C) smeush ienmg glenerag seneveut D) sreued gienpg sencvani

111, Who in the village is provided with a badge with inscription “Village Police” 7

A) Police Constable B) Village Head man
C) Thalaiyari D) Karnam
1. ®omokisefs RIS B sreusut Vsicnp afldeney UpmIS I Beengy 7
A) sraigae B) & gevavaimé e
C) seewwniég D) siewsBpss

112. Which P.S.0 states persons whose finger prints are to be taken for record ?
A) 802 B) 803 C) 804 D) 801

112. ais snasc Hlenev gyenewr e, steuisgEenLw aflped UBeysener HUTERDHTE SO S1
Qamsirer Gousiniib QE TN T YT

A) 802 B) 803 C) 804 D) 801

113. The possession of lathi by constable during large assemblies such as festivals, processions
and the like is mentioned in P.8.0.
A) 375 B) 537 €) 735 D) 374

3. B@eipraser, saiasubiaer, wgellwer Gumeinp O &' L miser = (BILd FLowdRed
Sgyeuedler Guleh SyoidslLEID srausuiss UPESLOTET FLgsener g gid Glanerar
Covem(Bitb erer sagyih Smf. gy etew,
A) 375 B) 537 C) 735 D) 374
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Use of handcuffs to the accused is dealt in P.S.0.

A) 641 B) 640 C) 645 D) 650

@aBég emsallwnig CunrPses upp GALIGL aras Herew sy enenr eTei.

A) 641 B) 640 C) 645 D) 650

Police officers are forbidden to issue one of the following to private individuals

A) Copy of ELR. B) Character certificate

C) Copy of search list D) Witness summons

Bpaeim_auppier steng gefluniaesée aipiis stae sBsmisd gend Qedwiul Gereremt o
A) @ ssaueh syfdens pac B) weiry snanfzp

C) Ga@ss UL igwe FEac D) #n Rsefer senpliLimenest

A person who is arrested by police should be informed of the following
i) His grounds of arrest
ii) His right to be consulted and defended by legal practitioner

iii) Source of Information leading to arrest

A) (i) alone B) (ii)alone

C) (i)and (ii) only D) (i), (ii) and (iii)

@ag GFiwiiul L puGES sTaGLeMSe LuHH sp Coauaa@h
) ey ensg QFOIWILL L HETET STTeRTLD/SMTewTEIS T

i) aupdsPegar sapsmia Osiaugparar yapg o Mens

iii) emag Qeiw 2 gallu ssualler pusms

A) (1) wl @ B) (ii) @b

C) (i) wppnb (i) oL @ib D) (i).(ii),(iii) g Bw ppeinpyeh
Appeal against acquittal in a case is decided by

A) Superintendent of police B) D.LG of police

C) District Collector D) State Government

a@smewner apsSer tbsrer Guswpapui® Cediamss Biwnefliiug wri 9
A) smeue sewsrenfliLimert B) smeue gienp genemgsencueuit

C) wreli g Rt D) wrfle syremdisib

‘Q'- Branch deals with
A) Idol thefts B) Accidents
C) Extremists D) Police Administration

‘Q' - WMaRer Geuenav

A) e Pl Gsst upBlug B) efluggssr updug
C) BallpaunrPsenems seimarenflLILig D) ameush Pieunsy upwg
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119.

119,

120.

120.

121.

121.

122,

122,

123.

123.

124.

‘Who conducts the examination for selection of IPS officers ?

A) TNPSC B) UPSC C) BSRB D) RRB
@EB W Fmeush Lienf S BETNSemars CaifClsBawLh Gaiasamear BLggieug w7
A) 1g.e1em R eTe. B B) w9 ere0. 8

C) i9.et6i0. gy 719 D) syi.pyi1f

Police Personnel Information System (PPIS) is maintained by

A) Modus operandi Bureau

B) Tamil Nadu Police Computer Wing

C) Crime Branch Criminal Investigation Department
D) Special Branch Criminal Investigation Department

anash vjgyaeisellar ussllipenps ssadaements (PPIS) wgmofiivg

A) Qrwed wpenp Fui_ib B) sllhpn® sressh aenflesh iifley
C) @ppinife) @ppir yeerries genp D) seflicnifa; GppLs Lewermiag sienm
Final report is prescribed by which section of Criminal Procedure Code ?

A) 173 B) 154 C) 82 D) 436

Qo8 spfima Fpp ofenrgement peopé s’ LGB erps faflesr ip
IPUGSFLILI Girons o

A) 173 B) 154 C) 82 D) 436

Sardar Vallabhai Patel National Police Academy is situated at

A) New Delhi B) Dehradun C) Hyderabad D) Mussooree
Fiigmi susvavimi LG GsPw smaed Spaih syeniofigierer @ ib

A) yg Qs B) GLpr@enr C) eangsrrung D) wpGemf

With whose order, a police officer can investigate a non- cognizable offence ?
A) Judicial Magistrate B) Deputy Superintendent of Police
C) Thasildar D) Superintendent of Police

FMeus HBah wirgrenw Henenruileir Guiled g dad s @DpFF 55 Ljeveir
aflFngenenr Qediwenh o

A) Gopewed FE e B) sneush grenenrd aetmamesfiimantt

C) el _né®wi D) smeush seimamsnlliiment

Within how many hours, arrested person shall be produced before Magistrate excluding the
time necessary for the journey from the place of arrest to the court ?

A) 12 hours B) 48 hours C) 24 hours D) 36 hours

- oEgl GFdwiLl L gumeut mag Gadwdiu L [ E T ABFEDEB DS DI pda

g Gpifs Grob salligg erssenen wend Bpud@p@sit @ppaius st wpeny ope0 i
uBSsLLL Geusdhr@ih 9

A) 12 wpenfl B) 48 woenfl C) 24wenf D) 36 wenf!
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. The appointing authority of Sub-Inspectors of Police is
A) Dy. Superintendent of Police B) Superintendent of Police
C) D.ILG of Police D) Director General of Police
. o.gafl gpiieunerisenar flwenh GFdiuh yBsmyh Gasreir et
A) grevent sraus) s mesdliLiment B) sreuch seimarenflliuimeni
C) &meuch gienevsd sencvau D) aneued gienp @uidk@pt

A Police Officer, who is on compulsory wait can avail joining time to join his new post for
A) 6days B) 7 days C) 2days D) No joining time

SLLTWE srsBmndsh asrer @5 gt seng yBHw ugeldiss oy ardiaiarey prl sar
aRdgs Cararereumid 2

A) 6 prlaser B) 7 pmiser C) 2 prisar D) ergioyflsbensy
What is the time limit to prefer mercy petition ?

A) One month B) 3 months C) One year D) Notime limit
Fmenew Logy et Foilild@n Ut aggmen prsepd@er Fwiliiss Caueaw@n ?

A) @ wrsb B) apengy waghiser

C) 9w spea@ D) @new eumbry Ben_wng

The maximum period of Special Disability Leave sanctioned to a person is
A) 24 months B) 12 months C) 6 months D) One month

Apiiy Guenenw aI@ly B sul sions staieuara BT ST suprisULG DS
A) 24 wrgrissn B) 12 wagdiser  C) 6 wrgmiser D) g wisb
Medical History Sheets of Head Constables shall be in the custody of

A) Station House Officer B) Sub-Inspector of Police

C) Station Writer D) Circle Inspector

r e taafleir omagior gD G ST st @mss CGarar@ib
A) Plersvw sraust HgysusT B) aniy-gyieuneni

C) Alensvw siapdsn D) el gy ureumart

Which of the following reward is not awarded to Sub-Inspectors of Police ?

A) Good Service Entry B) Meritorious Service Entry

C) Money reward D) BothAand C

BpaarLcuppler 2gal gameniserdE apisiuLTs Qaugud g 2
A) ppusalic uBley B) Quées s@ps uemiis ubey
) uemr Gsugof D) A wppnb C
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Below are given marks of two candidates P and Q in four papers each. Study these marks
and then answer the following three questions from Q.No. 131 to 133

Candidate P Paper I | Paper Il | Paper I1I Paper IV
Maximum Marks 75 100 80 70
Marks obtained 45 65 50 35

Candidate Q Paper V | Paper VI | Paper VII Paper VIII
Maximum Marks | 80 75 100 [
Marks obtained 56 41 40 42 J

8CP,Q et @) woremanisar, BAGG um_misafed Clipp wHi Queinasir jefdsiut Gerare,

280

131.

131.

132.

132,

@hs Aeraupid 3 Cacrefnense (Gasirad crair 131 s 133 aeny ) aflent_wefdias.
wresani 'P' wer | grsr Il | smer 11 smer TV [
2ABAuL
10BN Glredr 75 100 80 70
G e B Gl red 45 65 50 35 4
wreman 'Q' arer V et VI | soeir VII | gasir VIIT |
B 1
10BN Glred 80 75 100 70 ‘
Gppe B GlLredn 56 44 40 42

Considering the performance of *P" and ‘Q’ together, who in which paper has put up the best
performance ?

A) P in paper II B) Q in paper V C) Pin paper] D) Q in paper VI

P, Q @@euler wdiOusirseaner UL, wrt, sths Ln_SBs) WBF3ApriLng Gg s
Quippysirermi D EENTER

A) P gnmeir 11 & B) QaraérV & C) P gmsir 1 ab D) Q sreir VI ab
How is P's paperwise performance ranked best to worst 7

A) IL L I, IV B) LIL, 111, IV C) IL I, 1, IV D) IV, I 1L, 111

umeth aumrfwrs Pudsir wRUCusTsenen, 1Ba Apdiunerg s 1Hs Gomsiomengy
enrflgud stdiouny auflenswrs Smb e

A) IL LI, IV B) I 11, 111, TV C) ILIL I, IV Dy IV, I 11, IIT
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133. Considering the performance of P and Q in all the papers
A) ‘P’ has done better than ‘Q’ B) *Q’ has done better than ‘P’
C) Both have done equally well D) Itis difficult to say who is better

133. P uptb Qeyih srsbaur uim_miseflgyb Qupp wBiGusssamer susidfe ClarsmG
A) PQeras ol peipns Qeu@@ée@pri B) Q, P-avw el peinprs QairBmsfpri

C) Q@G soions pemprs D) wni peiipra Qe maSpni srer Glamebeugy

et (5 & R eirp ewrit &L STLOTELD

Below is given a passage followed by several inferences. You have to examine and answer
accordingly from amongst the alternatives provided for the following 5 questions from
Q. No.134 to 138

Wind is an inexhaustible source of energy and all aerogenator can convert it into electricity. Though
not much has so far been done in this field, the survey shows that there is a vast potential for
developing wind as an alternative source of energy. The wind survey has four components, —
direction, duration, speed and distribution. On this basis U.P. hill areas have been found an ideal
place for setting up aerogenerators. In U.P. hills alone, as many as 58 sites have been identified.

B0 o CBTL (B1b IB@LST LI S|FoTeTiISEsD SNESLILL Beirerer. Beupenp LiMFeenes
Gleigy eiraumib 5 Casralsens@ ellewarssab. (Casral sraw. 134 upsdd 138 auenn)

srppl, Bigg Cunang. PooiBméss smiyw 5P aporsTILIGL. Hog
aCGragenGrii fenedBuns wipm@ps. Gésempuis yBswrs Wuph Bsduns
Cun@gib, &1pp), LIDPIFERWNE LWSTURLD BPUITSISE U010 S FopIRTDET. SMHeRD
upBlur iy FrerG UGB Qurgeisemas Qarem. g -Pes,arew Genc Qeuall, Gassid,
uBligsefliy. @aeér sy luecdd 2.9 vewliuglsd aGrrgaGol Lisamer
(snpBledmhs e 2 PLES Caiiyd GuiBrrksaman) Quiisuspeiu ApEs @)L kisars
s Pl L B I A ofley or” @b 58 @) misenr Gzfey Gediwiu Ferere,

134. Only the hilly areas of U.P. were surveyed for setting up aerogenerators,
A) Data inadequate B) Definitely true
C) Probably false D) Definitely false

134, snppy B 2 pusH GuipBomsaner Hpia o SrGss wereliugBaer Ll HGw
Femid Q&M s Ll (Berenar.

" A) gaeusd CurBw SjeTauTengse B) fléswiwons o siwenio
C) opszmyp saupneis D) @éfuwns gapy
135. The survey was conducted under the government of U.P.
A) Definitely true B) Probably true
C) Data inadequate D) Definitely false
135. @)pp semaQa@iiy o..19 sypRerned CuopGanerariig L sn@b
A) féswions sd B) sdwns G)@wés aumdiiysirangs

C) gaae Qung wrergsiew D) fléfwwns seugy
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136. Wind, as a source of energy, can replace exhaustible sources of energy

A) Definitely false B) Probably true
C) Probably false D) Definitely true

136. Bisg Gunas smuyw F&BapansniksessE uBwTs snbep WIHY F&BwTE
LweTU (R &S,
A) Péswions gaug B) siwns @@més cumiiliyerensg
C) suprs @wés eumiliyereng D) déswons &

137. Energy by wind is a comparatively new emerging field.

A) Probably true B) Probably false
C) Definitely true D) Definitely false

137. snpPflefpis i o PSR Qriraig yBwsns Carenplujsrer S1enpumgh
A) silwns @@és eumiliyereng B) saupna @mes eumiriysreng
C) s piBwns s D) epBwns seugp

138. 58 sites identified in U.P. did not have electricity.
A) Definitely true B) Data inadequate
C) Probably true D) Probably false

138. 2.199Gss88e Galey Qeviuiuc Gerer 58 @) risele eranyousd Gevdv
A) pésunons sM B) ssaush Guig wrengsvew

C) sflwns @)@&s aumdiiyeneng D) seaupnas @ més eundiliysirerg

139. Find the correct answer Dungeon : Confinement : : Asylum : ?
A) Refuge B) Mercy C) Truancy D) Remorse

139. sfwnen eflen_enw Gaifg a@ssab. BB : Pevpaunsd :: yased b : 7
A) sEpewealld @il b B) @uésw
C) Gemb g8 MED D) wer osmerésst
140. Pick the 1%, 2, 4th 5t and 6 letters of the word ‘REASONING’, form yet another word
and then write the 1% and the last letters of the word formed
A) OR B) NE C) SE D) ES
140. ‘REASONING’ ereirp aunigengullelr wpged, Gloemneugl, prensmeus, gbsmeas wppitb

DTG STUpSGIGaeneT aTHES S LIPU unigeseu o (FuTsh ser wpse
SipsenguLb, senL_B eiupdenguib e1(pBerTed g

A) OR B) NE
C) SE D) ES
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. Sec. 188 of Indian Penal Code denotes which of the following offence ?
A) Disobedience to order duly promulgated by public servant
B) Affray
C) Causing Hurt

D) Public servant receiving bribe

Sy 188 @EPu seim_eens s’ Lib 15 GDpSBeer UPH GHIIGRDS ?

A) Qung smfuwomsy apepuns sfembULIULL G SLLemdGs SpLiLig et

B) sésnay

C) smunb aflsnarallliug

D) jns sanpflunt euEnetd aumsi&eaug

Whoever escapes or attempts to escape from any custody in which he is lawfully detained for
any such offence is punished under which of the following sections ?

A) Sec. 212 IPC. B) Sec.222IPC. C) Sec. 220 IPC. D) Sec. 224 IPC.
sroupmiigyih FL L AP wras sraiedls UGS G BHGD g sTOY sTgelieipith FUN6S
sy sUU wpugyh Gung Fpsnapib s fafefld Brp pehmgsaliu@Rpmi ?

A) Bdey 212 @.5.5 B) 19y 222 @).5.5.

C) 9hey 220 @).5.5. D) 9fa 224 @).5.5.

Sale of obscene books etc., is dealt under which of the following sections ?

A) Sec. 300 IPC. B) Sec. 292 IPC. C) Sec. 290 IPC. D) Sec. 295 IPC.

s ygpatiss afpLemen Qalige wppelluer a1bs Bipanggh 9fader Bip
@O LU Geiteng) 2

A) ddey 300 @.5.4. B) ey 292 @).5.5.

C) fey 290 @).5.4. D) Wfey 295 @).5.4.

Sec. 170 of Indian Penal Code deals with which of the following offence ?
A) Punishment for cheating by personation

B) Punishment for cheating

C) Personating a public servant

D) Assisting in concealment of stolen property

. Gifley 170 @pBw sei_emend sl 1D Bpsigmilh s1hs GOpsBeer GHUGA DS 7

A) gpemompriL gsmen STLOTDDICIFD (G HewL_e0en
B) gwrppaghH@s sewLenes
C) @ungy esrfluengis Gumsd yeir worpm’ L tb Cloiiped

D) BwoL@u Qurgener wepliushg o pal Qg
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145.

145.

146.

147.

147.

148.

148.

149.

149.

Act endangering life or personal safety of others is an offence under which of the following
sections 7

A) Sec. 335 IPC. B) Sec. 336 IPC.
C) Sec. 337 IPC. D) Sec. 338 IPC.

2 B8 Hsveg wHpaiseien oL pungsrinipe sumub alenarals@p Qsliens epgs
Bipanrgmb flallafles Gppid 7

A) 9fley 335 @).5.x. B) ifey 336 @).5.5.
C) 19fey 337 @.5.+ D) ey 338 @).5.4

. Unnatural offences are punishable under which of the following sections ?
A) Sec. 376 IPC. B) Sec. 375 IPC.
C) Sec. 378 IPC. D) Sec. 377 IPC.
Qupenssé@ wiprer @pprser Bpsngyb eis INefer 8 @Hod 7
A) ey 376 @.5.5. B) 9fay 375 @).5.o
C) ey 378 @).5.5. D) dfey 377 @.5.4
Act of a child under how many years of age is not an offence ?
A) Under 7 years of age B) Under 8 years of age
C) Under 9 years of age D) Under 6 years of age
sThs wWRDGLULL 96 Gphasuilsr Qsusd GppLppsts sGslLGRDS 7
A) egp wwBpEc ol B) ell® swwBp@
C) gerug auBp@ o D) sp swwBp@ ol

When two or more persons by fighting in a public place disturbing the public peace is said to
have committed the offence of

A) Causing Hurt B) Rioting

C) Assault D) Affray

Boer® sysvavg oipHE Cupulaissr g Qung @)L B sever ulGause apwid
Glungl HyenBerwd & b@tb Gungl syeuiaer Bipangyih s1ps Gppses YRS priser ?
A) s 2 ML TEGB® B) swa alemarallgsea

C) srégss D) #saoey

Under what provision of law a Police Officer may seize any property which may be alleged to
have been stolen or which may be found under circumstances which may create suspicion of
the Commission of any offence ?

A) Sec 91 B) Sec. 102 C) Sec. 100 D) Sec. 200

s1hg LMallelr 8B1p srauch sygueret BesL_ i’ @ @aliugrs Qerdaliu@n swag
BeLoulyouusns spGastiu®in aiis Qurgamenyih (Sdag)@pph 35t
Gediwiin GaraGlsanih spGasagans o eim_ni@h @pherwude sremengio GLmmeer
esUuppeurh 7

A) 9fey 91 B) ey 102 C) 19fay 100 D) 19fay 200
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151.

151.

152.

152.

153.

153.
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As per Sec, 154 of CrPC every information relating to the commission of cognizable offence
if given orally to an officer in charge of a police station shall be reduced to writing by him or
under his direction and be read over to the informant and shall be signed by the person giving
it, such information is known as

A) Final Report B) First Information Report

C) Police Report D) None of the above

iy 154 @.all.p. s g esg Qeigpeiu @ppGlorsip Cedwliulg @mriug upmlu
gl saugb sTas Howw QUL JPVRGES amiomnfurs
Qan@ésu@resy g HaurmBen () o gBrallagGunr erpsiu@sesd Gaaw@id.

saad Qar@gsarl b Ly ss snemiss esQuriun QupGae@i. JFs H6aede |
@uiwit eTeita 9

A) @B sfdes B) wpaa gaasy ypfldams

C) ameush pypidens D) GueBev Ganshian afleni asi QLINBESTE
Under Sec. 173 (2) CrPC the Report of Police Officer on completion of investigation is

commonly known as |
A) Final Report B) Police Report |
C) Investigation Report D) None of the above |
wifley 173 (2)uy. yevermdea qpuds e arausd sgraet gréass el sjpfdems
QuIngiauns staIaTn SenpaaLIGIh ?

A) @nP sfées B) smaued sypfidens

C) yevermiiey sypldens D) Guosb Qeneres aflenL_&er QUITGBESTSI ‘
Under what provision in Criminal Procedure Code the Court has power to postpone or adjourn ‘
the proceedings in any inquiry or Trial 7

A) Sec. 317 CrPC B) Sec. 309 CrPC |
C) Sec. 437 CrPC D) Sec. 436 CrPC '

@ppailue Fegpepdel L B siis faller 8ip FRwDSB DG LRfaenar (3)
aflgngener pLauigdensas Garel @aLILSDE (Swg) @58 ealiugpaTer BsTIL
oaim® 7

A) 19fey317 B) (9flay 300
C) Biley437 D) 9fa 436

Under what provision of CrPC, a party to a proceeding may as soon as after the closure of his
evidence can make oral argument and submit a memorandum of written arguments, if any ?
A) Sec. 311 CrPC B) Sec. 314 CrPC

C) Sec. 309 CrPC D) Sec. 320 CrPC

GHpelusd Feni_qperp sL B a1ps 9Malleh allgmrement wpubs et apdFled
Fshugslul L srnier saundiQurfluner ansGairggmsuib STUpSS Apanmen
and@Gangsasy §5 wapgBa Gewemd ?

A) 9fey3ll B) 9feay 314
C) ifey309 D) 19May 320
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154.

154,

155.

155.

156.

156.

157.

157.

158.

158.

Under what provision of the Criminal Procedure Code the Court can order to pay compensation
by the convicted person to the victim of the said case ?

A) Sec. 257 CrPC B) Sec. 357 CrPC  C) Sec. 157 CrPC D) Sec. 360 CrPC

sips LAMefler 8 e FBwepid FEML_enenuh PpIth eyl FH b YETTSTIH &S
Qa&nr@Raseumn 7

A) (9257 B) 19fey357 C) fey 157 D) 1fifley 360

As per Sec, 438 CrPC, the High Court and the Court of Sessions can grant “Anticipatary Bail”
only in the case of

A) Non Bailable offences B) Bailable and Cognizable offences
C) Both Bailable & Non Bailable offences D) Non cognizable offences

@ -ai.p. e (Mg 4386t Ly o wigPioepin WwHmILh Spogi FEwsDLD 1peit g Sair Bipaeim_
hs aupdGaais anprismms o

A) Bereniieh el wpigwing SDpLb

B) enenufieh ef_damigw whmith gl Gl wIFS DML & HpLD

C) denenuied afl@ib o pith el (pipwing @mmEissr

D) emag Qeiigp@iussns @DpLb

Section 320 CrPC deals with

A) Compounding the offences B) Withdrawal of complaint
C) Legal aid to the accused D) Discharge of the accused
ity 320 @.ofl.qp. sl th crensd @plaRemg 7

A) Fworgneann Qwiig Qansitenib @ppmismer upal

B) @ppésnen Bmibu Cumpised

C) @ppib Qeuis FLBEE K1 apath 2 Fose

D) @opib Qsiis pusns oG aflgsed LiHs

Ifthe offence is punishable with fine only, the period of limitation shall be
A) Six months B) One month C) One year D) Three years

PG GDPSBDEG HUITELD L GG sem_everwuna aNFF@h Ll F#5Rw yseneT
aflFnaenad @ eIpLSHETeT SNVQUTLDL eTaitesr 9

A) o wigkiser B) g wrsih

C) o6 amLLb D) epeirm supi mmer

Warrant cases means case relating to an offence punishable for a term of imprisonment
exceeding

A) 2 years B) 7 years C) 5 years D) Not exceeding 2 years

iy gpenent aipd eeTLig uGLRsa5sE G Daypd sraueme s eeruwns
Bdag gia @ppib upPlu enpsRenend @pé@ib

A) @ren® e diser B) & e th

C) preng eugpLdisar D) epeim eupLmiser
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In the contents of charges, the previous conviction of the Accused shall be stated because
A) Forenhanced punishment

B) For less punishment

C) For set off punishment

D) Does not arise

@ppuLsBimas a@flisr wer e marow upd AL CGuemgw sigemid ?
A) 2B sav_ener s

B) geopps semienal auTES

C) gavLesreow fis

D) es o9ainmen srospth @

. Case relating to an offence punishable with death imprisonment for life or imprisonment for a

term exceeding two years is considered as

A) Summons case
B) Warrant casc
C) Sessions case

D) Not any of the above

. SG aupsfleh FaTL @ F15@, 1@ ey Rep seaT_ear () QoG uGLEDHS

Buosh evwL_smen eTSITLIGI

A) menppliLimer e

B) Sy wnenes aupds

C) Qaapsiran auipdiE

D) GulGea Gersrerenau stgiah QuTEmSSTEH

As per CrPC Section 70 (2) every warrant of arrest issued by a Court shall remain in force
until it is cancelled by the Court or until it is executed.

A) False B) True

C) Partly true D) None of the above

@.a0.p. s 19ey 70 (2) ensg Qedugpans Qan@ssiu@i iy e B8 weTpLh

145 Qeiiyih ausnrfgyih (21) Sims SpouBSD praundms a@EGH aenguisd
GAosah e Qensrerme

A) Gumdr
B) o swenio
C) wun@ o siwenio

D) Guwls Generenrsnay stgyayb GUnGHENS




(NS0 37- D

162. Cognizable offence is an offence in which a police officer before making arrest has to get
permission from

A) Court B) Superior Officer
C) Government D) No Body
162, “enag CedaugpEiu @pp ” aeug sras syt guaeny ensg CFliuh wperert
QL Qoig S@id Cup Gasn@d
A) pBweipib B) Gue yBarf
C) sygsniish D) ereugsiflchensy
163. As per Sec. 164 CrPC Confessions and Statements are recorded by
A) Sessions Judge
B) Judicial Magistrate
C) Sub. ordinate Judge
D) Executive Magistrate
163. @ af.p. s th Iifey 164L1g LIS HPID undGapemiss uRa QFUULILELD FEaT
A) spwiey fBUB
B) pRsgiep GHpeiwe p@aui
C) 2. gail oyoiey fRLE
D) Qewegenn @ et

164. Police custody of an accused can be granted by a Court only within first days of
remand.
A) 30 B) 15 C) 45 D) 60

164. 9w @ppaurallew sreaush sygyaeler Qumpnia, FPwemid g
FMaud TS Pajd@en gren sgwBés Gaan(ib

A) 30 B) 15 C) 45 D) 60

AL ST

165. Under the Indian Evidence Act, as per Section 3, “evidence” is of two kinds, what are they ?
A) Oral Evidence and Documentary evidence
B) Occular Evidence and Medical Evidence
C) Direct Evidence and Circumstantial Evidence
D) None of the above
165. @BSw snerrés b 9y 3 e Ly “om A" G@aimsunEts ~ sear wTenar 9
A) aumdGomf) #r’ Huwib sy euent srC Hwib
B) sewemupp er’ Awib w@ggie sr Hwid
C) Gpoug sm”Puib @phlency sm” Huith
D) GupGlensrer alenL_ser Clunmpsng
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167.

167.

168,

168.
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. What is meant by “Direct Evidence” under the Indian Evidence Act ?

A) Testimony of the witnesses as to the principal fact to be proved
B) Medical Evidence

C) “Hearsay Evidence”

D) None of the above

. QBBw snenda L g@eb ereneu “Groy s Awions TEsGEOILED DS ?

A) dpssener o ciren sriaBadn upp sn Naefler o enpé sneip
B) w@sgieusn Suwib

C) Gsearaflflencvud smergy

D) GupGlendrer afent_aer GQumwmisng

‘What is meant by “Extra judicial confession”, under the Indian Evidence Act ?

A) Confession made by an accused elsewhere, than before Magistrate or Court, to any person
or Body of persons

B) It means confession obtained by police-illegally

C) It means confession made by an co-accused

D) None of the above

@B sneips s LGP fDFgeop snons U FQIeNT STSTDTED areien o

A) gBwepib (1) BSgIoop pOwT Hvers Gaupr Lt Svg Futaal b
GenseliL@h gULsa T

B) sraue syaweugred gpenpupp anfluied Gupliul L gULsg e
C) sa@ppeauned Qan®siE guiysaeny
D) Guplererer allenLsar QunmpsTal

What is meant by “ALIBI" under the Indian Evidence Act ?

A) It means physical impossibility of the presence of the accused at the scene of crime by
reason of his presence at another place

B) It means person fleeing after commission of offence
C) It means a person who settles abroad after commission of an offence
D) None of the above

@pBw snerps s gBeé “Ceuppleungd " (ALIBI) ereirenGlausing Gumseini@ib 2

A) aBf sbues G R Geemwe Cupul B sbualrsbs Goissns
SpLUBILD euTSLh

B) @pmiens yigzel’® eu elipg Qararre gyeaumgy Qurmsiu@b
C) @8 eppses uips .G Quelsr® QoapalGss
D) Guplenerer aflenLser Qurmpsma
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169. “Presumption of Law” may be classified under two heads. What are they ?
A) Rebuttable presumption, irrebuttable presumption
B) Legal presumption, illegal presumption
C) Moral presumption. Immoral presumption
D) None of the above
169. “s’t ARwnen giealiL)” B aremasan@ib. syenas wrenas 9
A) wpsClsremrggienilny, wpnweg ey

B) el qpenpuner gienfly, s L_qpoemnen genfiLy

C) apwepunen genflLy, sipepepupp siesiy
D) GupGlendrer elenser QumgEsng
170. How the “DOCUMENTS” are classified under the Indian Evidence Act ?
A) Public Document, Private Document
B) Written Document, Unwritten Document
C) Legal Document, Illegal Document
D) None of the above
170. @pPw sm’ Rués L B “gouenns” erdiaung) aensliL@ésliud. Garong 7
A) Glung gyeuenib, seflwni gyeuertih
B) eupsiiu L gyeuswrih, stupsliLng yeuentih

C) sl igpenpuinen g ouentih, SULpopuUpp pauenid

D) GupGlerdrer eflenr_seir Qun@wEsns




